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ymputer Science IGmup. 1"] SSC (10*)1*Annual 2024 VA T IOy ) ¥
T“me 145Hours SubjectlvePapet Il .MJQI 145 20y 40 / gt/ . }{.f

il . s b i O

Marks: 40

R ————— SIS E R DI U

Note: Section IBis compulsory. Atterpt any T'W() questions from secuon (ol

Slwo) —)—2Yy  SECTION-B pyr |
(4x2=6) .é{/&gﬁ/&»hﬂ:&baf 4

Eaf8 S
,éukibédaffj S8 i

e SN i
SIS AT A aTEAL
I NAATOR

printf (“s\nnn\nnnn”); 22;‘4&51'JU!’£—5/AZ_—1 i
(4x2:8) Epehr P Lane b 3

.i.’—o.a'_,;é:?-}’ Kt

-ZJG: ¥ If-statement i

Tc‘_ﬁ/y’c..:)"? if-else ¥< il

{ el §3ides v

intnl=5,n2=9,a,b;

b
a nl+n2+n3; @@

=n2¥nl;

pnntf("%g g@%?b)
’ ng@

+  Define data slructure. @ Eosrsls e v

.+ Declare an array that stores the word "PUN L FPUNIAB S E Al il i

(4x2=8) g ALy M 4

4 ; » -
& 4 i 7 By

.é:;-'a'l«’!.)v'."”(‘.".'," L s {

é 4 .a.«U.tL.uﬂr»c—éfé-l.ﬂ/l’/ 4-(5;1,#»/‘

2. Writa shon answers to any FOUR parts.

i. Define programmer.
ii. Describe mullitine comments with examplo.
i, Whal is the purpose of compiier?
. Whatis the difforence between unary operalors and binary operalors?
v Draw truth table tor OR operator.
vi. Determine the output of the given code segment:
3. Write short answers to any FOUR parts.
i Define condition.
. Write the syntax of if-statement.
s, \What is nesled if-else statement?

iv. Whatis the output of the given code?

Wrue short answers to any FOUR p

£

Sestnbe divide and conguer fule.

L o st EaS
Yinte down structure of funclion defimtion. RS2 T4 AT i
£ = :’;—:‘ o
v+ Wnte down syntax of function call. Y VOO 15 Mg i
e b
«  ‘Hnal are user-defined functions? TSl SRR S
Wide down outpul of the given code: for(j=0; j< = 3; j++) Efmeii il |
printf("%d", j);
I3 = ‘ ’
w. ldenufy error{s ) in the given code: int array [-5]; TR P EAC
array(-5] ={2,4,6,8,10}
SECTION-C /» -
R o £ ‘ 1 g
‘Note: Attempt any TWO guestions, Each question carries 8 marks. ALy e E Pyl slrna Mie s
o . _y
5. Describe the commernits in C-lanquage and describe purpeses and types of comiments. i—":'.;“:-..‘b"' s s."" teslfc o SLr-C S
6. Explain different types of relational operators with oxamplas. o _,.(,.,,__,_ Ji 3 24l Uf"-—, RNE

7. Using For lcop. wrile down a program in C-language _,‘,_/,.(;,Mfff,g";g 30, 20, 10 ,:‘—f P ,,'._,(,V_ o -Gl pd.. ;O u‘ ,,f?,'po, 7

thal displays 10, 20, 30, 40. 50, on computer screen
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)mputer Science |Group 2""| SSC (10'")1"Annual 20424 (V27777 P 1
Mafks 40 Time: 1:45Hours Subjective Paper II .e/JLJl 145 15, 404 e/ U"’ lr)c!

St e i ,;_é,;a,uzL-:alfmé-d"U"l”"'*‘mf”"“

Note: Sectlon B is compulsory. Attempt any TW() quostions from soction !

(D). ~2~2Y SECTION-B n
- (4x2+8) e ALy 2

S o oI e Cidontifion U
sebnef iy i
i i

B L pgda U v
&‘4.;‘/{/6_..5//.’03 v
5280 orrors) S L s i

2. Wrile short answers o any FOUR parts.
[. Whalis an identitior?
ii. Who is a programmer?
. Define keywords.
iv.  Whatls the purpose of assignmen! oporator?
v. What do you mean by short circuiting?

vi. Find errors) in tho given code:
b . suml' (( Enter mmqhu al"n);

printf {value ol a1 % ¢ a),
(4x2=8) _éd.-..w,-"/_.uuyg.af .3

i. Whatls meant by conditional logic? 74—”/&’4—0"‘ Ao

. faentify errors in the given code. int 2230 .ééLSlWL;ur.wU:”-'-‘f-Z—x il
printf(“%f{", y)

3. Writa short answars to any FOUR parts,

i, Write down the oulput of the given code: in(t..rsf;. y=10; :éﬂoq.:.;f(j}/éq.; i
if (x<y

X++!
else @
pe <

printf ("%d", x, y) S
(Continued, PTO) o @ (q!ldn-‘;..{j&)

s

iv  Differentiate between /fand if e/se statement & L’JEJ)U:-.'—""? ifolse 4 If iv
v. Define data structure and give an @ -‘ipdb‘éldléd_/’d/;l‘-_! -
n. How array elements are arranged inmemory? \“'-_J,:Lf?,_x;‘jdy,,‘:; S i
A Write short answers to any FOUR parts. (4x2=8) _é;};y;ﬂ&,uhkf_‘y A
1. ldenlify errors in the given code: iirl‘c:?(gg]) -'éédilﬁ"éué';.:_ 4,.;3_4_, i
i Wnite down the output of the given code: faf(iﬂlb\;i;g;(;\‘o/:;\St(,!'i'-‘}‘;-\’" 10) :é‘_u,_ﬁfdff.’;.’. &y il
vi What are function paramelers? . 'J/’J'M L
i/ \Whatis meant by built-in function? T.q.,»l/lfz.,f gt v
/. Desenbe 'divide and conquer rule'. Lot Ird ,/w,,,, A
vi,  Whatis funchion signature? it § ’,u%,; o
SECTION-C (r.»
Note: Attempt any TWO questions. Each question carries 8 marks. AABLy n (Felndctivnedfiss

5, Describe the purposce and syntax of comments in
C-Programs. Explain its lypes also.

s—- U’dlu‘l}'cj\,‘lagkb ‘-' ;l\/lnf .j,u 15-C -9
6 What are Ingical operators? Describe ils types in detail, éfub«-—u '(KD'J /4!'«) AL £y 8
- ‘ I -

Write down a program using for loop in F o § :
i S 2 4 DNl JB20080 £ 1/ 1 LI < 4
C-language that prinls odd numbers from 8 to 20. g ‘_{ JU fv},w‘fé °

Nl

~J
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Roll No.l | [ ] |(4,/;,,},:,‘,«1L§

Computer Science S$SC (10th) 1st Annual 2023 i i Gt
Paper : 1l Group : | Objective (f:/f 1&.;.;,,/ e 24
Time :15Minues  SWLT/TE3 (i)

2”15 I
Marks : 10 Paper Code | 7 8 3 3 10: 4

Aol | S Foiblb Lt emne Uesibd sy n4Q83120). AL Es Dl C,B,A ML Ny g i
-
It Sz i Soear$E STk L LT 2 s ibmlie L]

Note: - You have four choices for each abjective type question as A, B, C and D. The choice which you think is correct; fill that circle in front of that
question number in your answer book. Use marker or pen to fill the circles. Cutting or filling up two or more circles will result no mark.

SECTION-A ().s

Q1 Questions/ =11y A B c D
1. . ":"%‘:””u""—.————————“’guﬂy U}“é (J)A/é" (LJﬁJ}!} (U:
Conditional logic helps in : Decisions Iterations Traversing Al of these
odnls Afa P LLﬁ.:,/.gfansi’
Let the following part of code, what will be the
9 value of variable ‘a’ after execution.
it gk 8.8 8 8.0 8.2
float b=2.2;
a=a*b; ; 4\}(&\
S0 BT 210070k /i ©
3. | Ifthe size of an array is 100, the range of 0-99 %@-100 1-100 2-102
indexes will be. < Qb
IS e S ule ﬁé@
4 Suredtic ®@,«:’ b 7 oL
' statements describe the
sequence in which statements of the p Loop Conditional Sequential All of these
should be executed.
+Q1)Atﬂ£r'£4)’.ﬁfﬁﬂ@}/’-‘-’¢)va Jekd )’Il;f An IDE g
5. -‘4.17'1]1"/
A software that facilitates programmers in di .
writing computer programs is known as___. Anaiior Acampller An IDE A debugger
6. _4,“ch::|r"u’:‘.}"J :char cqo {return ‘?’} J/ 2T LA . Sil
char cd() {return ‘a’}. In this function “char” is: Arguments Return Type Array Body
" e FES o 1 Aok Y AT
The values passed to a function are called: Bodies Return Types Arrays Arguments
414,'—‘Z.J/J.A;'U:;fél9’}56{‘1/947/::&“& )’_’(,}/ An IDE jq %,
& : S
8 cl,u_éﬁugulﬁfui/
" | Asoftware that is responsible for the .
conversion of program files to machine Atampler An IDE A debugger An Editor
understandable and executable code is:
0| 4 ctPLilicsmt| g S0 7 oY
Scanfisa in C-programming language. Keyword Library Function None of these
éLL'ﬂ)JQ;LIL!“?LaLL@%/{/” " .
. ! b/ Jo g &3
10. e b
: s?ructure allows repetition of a Laog Conditional Conttol Data
set of instructions.

1. A L 125-223-1A-9000 s



Roll No. (eS8 b

COMPUTER SCIENCE  SSC (10t) 1st Annual 2023 o by i
Time : 1:45 Hours Group: | Paper (ID 24 b .{,f a5 0 o,
Marks : 40 Subjective W SO L /23 a0: A
Note: Section B is compulsory. Attempt any two questions from section C. _ég V4 .:A,mé..:.mr»aéfz_utﬁ r o & il
. SECTION-B /».»
2. Write short answers to any Four parts. (4x2=8) _ég Al ¥4 L»Iibycéf B
i. What s a text editor? ' fe S AHSE
ii. Define a variable -éqﬁd/f’ i
iii. What is meant by variable initialization? ?q.,l/_l{¢.4ﬁ'-7’u3..”l(5i il
iv. Differentiate between unary operator and binary operator. S OV LTS Alst 241574 v
v. Whatis the purpose of a modulus operator. Give an example. Z ;db-.{LQJ’Lf AU v
vi. Find the result of the given expression. 25/5%3-(2-1) _é(}” s.JUfKL'ﬁ ,;é! Z,zv__,; Vi
3.  Write short answers to any Four parts. (4x2=8) -é{ bz Z,Azugz_éf 3
i. Write two types of control statements. _éﬂa (DI»L;U"‘;:‘? d; ;f i
ii. What is the use of nested selection structure? ?c;.dt;’ %47 /{ }-'cf‘? 2
fii. Whatis the output of given code? inta=4,b=5; ?4,4_/..»,.»,76 sFE L il
a=a+b, @@
if(a>8&&b<?8) OCQ)
b=a+b; o
printf ("a= @b =%d",a,b);
iv. Why do we need conditional statements? @ ?4_8;“){ a/:/JJ“":"‘/ cﬁbf v
v. What is meant by data structure? feil e A v
vi. Declare an array of float type to store 30 % marks. &£ ﬂ.‘ﬁa_dgl%&ﬁé_ééd/lﬂg(*m i
4.  Write short answers to any Four p (4x2=8) -&ég F ez 4 L»‘f’lkééf 4
i.  Write the names of kinds of loo Bl Bl
il. Write down the steps of a for loop. ,zﬂ.pd’l/z:.%bﬁ i
iii. Define a function. Eua8P i
iv.  Write down the advantages of a function? -é’ (l::f.,cl}[—‘}éj Jdv
v. Whatis a function signature? _ ?4,51/9’4,/,9&‘}6 v
vi. What will be the output of the following: Wjﬂ&f 4«,&:76&5@» Vi
int aa(int x)
{ intp=x/10;
return p;
}
int main()

{
print f ("We get % d",aa(20));

}

(U708 3Ly ) froo
SECTION-C (Each question carries Eight 08 Marks)

5.  Explain /ntand floatdata type in C-Language. ® _Z'fwlhg{_,}w,;‘ float s int ut(’;ﬁ:’-c .5
What are logical operators? Explain its types. (2+6) -évu’drl}ﬁd’wﬁ P [£8] /‘,ﬂ(}w _6
Write a program using a for loop to print e Szl S for !oop(?r L0 Lz (lf skl 7
counting from 1-10. (®

125-223-1A-9000
A



Roll No. (S 298 s
COMPUTER SCIENCE SSC (10th) 1st Annual 2023 vkl b i et
Paper : 1l Group : 1l Objective LS‘ iy g /35 :..;.,f n: 24
Time : 15 Minutes G SwL ~2-23 215 oH)
Marks : 10 Paper Code | 7 8 3 2 10:

STy W Y Sin Qo Ltzmrne fusmd s Ll iy ,f,-&b’(,}mw-wéfz,; Dl C,B, Az Rl Jiry -12d
;ﬂa;ﬂJL/{f&(L d_/’}' :(u:;buyr_.{l
Note: - You have four choices for each objective type question as A, B, C and D. The choice which you think is correct; fill that circle in front of that
question number in your answer book. Use marker or pen to fill the circles. Cutting or filling up two or more circles will result no mark.

SECTION-A (s.»

-(MJ’JW-JY. u}(l

Q.1 Questions/ =iy A B C D
W WLl LS5 S s S n e o
. can be thought of as a container Box Jar Variable Collection
to store constants.
2. AL S L (74.[.&.—//11-‘4‘1{/:;‘...@ i " @ 5
For initialization of a variable, we use operator, ’
3. | S ErIL LIS printf G " @ e ol
printf is used to print type. m<; b All of these
A 4 U s .
4 ,“;_____u:@,c:’ L/, 24 C Scanf P o v G241 ub’a B PRE T
Scanf isa___in C programming language. Keyujqrg;)% Library Function None of these
Iy s N
e bl L dn s i L Lo i S 5 Wy B yed 8
S| An if statement inside another /f statement s @ ested Boxed Rept:,ated Decomposed
called structure. ~\ P
N
e bul eak .-,u/‘.,g;:__f? J Sl b R
6. | Asetof multiple instructions en \'iﬁo in Box List Block Job
braces is called a:
SnE8A N o 10058 /1
T- | Ifthe size of an array is 100, the range of 0-99 0-100 1-100 2-102
indexes will be
L LI E ALy 27 £ o .
. /! b Ji g x
8. _c‘,lrndb"’ I
structure allows repetition of a set of Loop Ganditional Coritial Data
instructions.
" A LS| e JFIA OUTALS 3 i g
The advantages of using functions are Readability Reusability Easy debugging | All of these
Ut Yl s | ” of ST
10. Loty
One Two Three First & last

If there are three return statements in the

function body, of them wiil be executed.

i

126~223-1A-12000 *



RotNo.| | | | | | |eras

COMPUTER SCIENCE SSC (10t) 1st Annual 2023 il e
Time : 145 Hours  Group:l| Paper (D 24 niga) s o
Marks : 40 Subjective (1 StIl.—2-2.% a0: A
Note: Section B is compuisory. Attempt any two questions from section C. _é”é; i .:«Ui.é.cawr»cvéfa,u':,fr/,;d:ﬂ(»/:.:J
SECTION-B /s.»
2.  Write short.answers to any Four parts. (4x2=8) _aég F el / Lz blgé.[}f .2
i. What are header files? SO Fb. 2 i
ii. Whatis meant by data type? Sl e il i
iii. What is meant by variable declaration? ?+;i/y¢u2)5dﬁi;‘ (i
iv. Why logical operators are used in C-language? ?LﬁLﬂJU‘;’iu:{J/ZJ,T@pLﬂéQC Jiv
v. Find errors in the given code. inta ,éJ’w'iulauflifiL) v
scanf ("%d",a); ) )

vi. Write the output of given code. print £("Hello\n World"); ; éj'-‘f-.--bff& 17N Vi
3.  Write short answers to any Four parts. (4x2=8) ,ég iz L,;zm,m,éf B
i. Write down any two types of control statements. @@ ,c’f’f (l}lnu’ df(fu‘t’:‘:‘/ s /‘/ i
ii. Draw a flow chart of /f statement in C-language. %E\O@ _é,la.bzl;)‘;?.‘/':'f/fufé)@—c i
iii. Write down the structure of nested selection structure. O%% ,éjjbib’/{)\;?(f‘v,’%’ i
iv. Whatis common mistake in a compound statement? %S© ?q,&ﬁyf(bcﬁ-ﬂﬁgf v
v. Write the advantage of initializing an array at th @ 6f declaration. -é{ Foilid SIAI S e v
vi. What is meant by array index. & ?(‘_)I/Lf:_‘fi’lpﬂ i
4.  Write short answers to any Four pa (4x2=8) -Z:é__/ i F L,lzbga.(}f 4
i. Define an array initialization. ,ééqidcz:?u’&”lz.ﬁ d
ii. Whatis meant by loop structure? ‘.‘4‘,,!/!_;’4;:;.;! i
iii. Whatis meant by function signature? 5’4:‘/?4.).3.1&...&‘?5 i
iv. Define a function body. _éqiéasgi"" iV
v. Define user-defined functions. 454/715%5}‘?!335115 kY
vi. 1dentify the error in the given code: void fun(intx, -éjwuwd—k)“’réé’ i

{ x=20;
y=10; }

(A 08 AL Jirg) Froe
SECTION-C (Each question carries Eight 08 Marks)

5.  Define constants. Explain different types of constants. ® -éyu;nfauﬁ"‘ﬁrﬁiﬂ-g{qufouﬁ;‘ 5

6.  What are input / output function? Explain printf O with  (2+2+4) ‘é”u,éu;’WJprinﬁ O ‘-'ui!;"&éjgf,gxﬂ_t,;dg -6
examples.

7. Write a program using For loop to print word (U'/:u,b’i./&z,,f/m 7 “PUNJAB” &2 nd /U fzIFor 7
“PUNJAB” 10 times. ® &

/
-~



RoliNo. | | | [ T T Jesahiud

Computer Science S.S.C (10%)-A-2022 Sl
Paper- : [I Group : | Objective (/s 11;;.1,,; B L
Time : 15 Minutes Giv) 215 oF
Marks : 10 PaperCode |7 |8 (3|7 | Sede . QlA210: 4

Espe b Lfkﬂibdb&quawu:jbiz,_:&la&dlf A4Q¥0IzG 2 Z & D siC,B,A ayzﬂJQMrﬁ ~a

Kt Bodn wfintcur§L SIS 21 4 fibolie L)
Note: - You have four choices for each objective type question as A, B, C and D. The choice which you think is correct; fill that circle in front of that
question number in your answer book. Use marker or pen to fill the circles. Cutting or filling up two or more circles will result no mark.

SECTION-A (.~

Q.1 Questions/ 01> A B c D
e FEEEus” 24 Sz - Nad 7]
1. | The values passed to a function are called Bodies Return types Array Arguments
5 ot HF scanf sl Printf | ik 3L £sbsg 7
The printf and scanfare _____functions. Built-in Arithmetic | User-defined Custom
PPN (s 178
What will be the output of this code?
int add (int a, int b) @C@
{ ©
returna+b; &
3. 5 ol 9 14 18
! Qg@“
void main()
¢ 0
printf ("%d",add (9,5)), @
}
‘:Liél.’fb’k/“m "‘f‘—/ JA/:"’ U: JJL{,J o
4. | In which section “Include” statements are Header Main Comments Print
written?
5, _4,-@?4’ LI“Printf” il Lolil O T O G?Q;
“Printf” is a function: Input Output Input & Output | Mathematical
6. eé—é"yygui int=20; grad:‘A’; llneT.thlS o grade:'B’;
Which of the given is a valid statement? ine,
b q,t:-:f;::uf-&f/./ pqerd 1 J”':/ ﬂJz—VQ o o) i o
7. o
A set of multiple statements enclosed in Box List Block Job
: braces is called:
8. '4")"/? ‘f:v"wf Float if-else Array Loop
Which is a selection statement?
i EBSAHTI 100506 Sl
9. | if the size of an array is 100, the range of 0-99 0-100 1-100 2-102
indexes will be
e ledte s bt for A 3 AT J13b
10. ____partofthe forfoopis executed first. |  Condition Body Initialization | Increment/
decrement

126-222-A-11000 % % % %
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Computer Science $.S.C (10th)-A-2022 St
Time  : 145 Hours Group: | Paper (ID 24 Ueg -;’f 145 : ~"-:"”
Marks : 40 Subjective ét"l jw - C, /ed ) 40: y 4
Note: Section B is compuisory. Attempt any two questions from section C. ,é; /’.:ayzé.:amr»c—afc—uﬂfr.l-q.d:ﬂf»/:&]

SECTION-B /».»
2. Write short answers to any Four parts. (4x2=8) é{} 7 S L»!Zbkc—éf 2
i. Write down any two rules for naming variables. .é{ £ d:‘!»éféi)rbéd &

ii. Whatis compiler? ?4‘:_1_!)'% i
iii. When and who developed “C” language? ol sl féﬁ ““" i
iv. Write the names of two functions for input in “C” language. -ﬁ (l:i- ;0 ::é—qu!U:é:@ ““" v
v. Solve the given expression: 7+3%(12+2) ,r_f;J’ Ef ‘f“- j{iq_; RY
vi. Draw a truth table of AND operator. ,g'_abd"‘ 5375 £4TAND vi
3. Write short answers to any Four parts. (4x2=8) .é{/’ =z /_,tzug:,éi’ 23
i. Write the structure of /~-e/se statement. -ég /4 laib’é’b% if-else i
iil. What is meant by conditional logic? Seal e n 2 i
iii. What is the output of following? inta=30; @@@ S lf ~£4¢5T(5J.36u i

if (a>33) O
printf ("P%g@
else @
0,
iv. Differentiate between 7 statement and - @ement. _é’éc) Ld /-ug_&}f’ “ if-else” sl 2 v
v. How you can declare an array? ?wéf /J'?-SJ }Z./L__,J R
vi. What is meant by array initiali S L) i
4. Write short answers to any Four parts. (4x2=8) | -é; F iz F Lpb!bbééf 4
i.  Describe the structure of a for /oop. ‘ -éwb}éé;-(o;‘dj—?) for i
ii.  What will be the output of the following code? Jor(int i=0; i< 3; i++) ?5;7 ¥ ¢4¢’T¢55{J5(-,,, i
{ T
printf ("Pakistéh \ n");
} |
iii. ~Whatis meant by “Readability” in function? Sl e yde,_:»«daz"u:ﬁ il
iv.  Define the function parameters. | -c".’-gqﬂ' (5: 2 .,Jé v
V. Write the general structure of a function signature. J -2:’.0 ,{ lafrWZ}? L‘}O v
vi.  Identify the errors in the given code: int product (int#: 1,intn 2) .zf:‘f Fap3ile s i
return nl*xn 2;
W7 08 LUy 1) {'J,,;,
iesEight 08 Marks) —— - SECTION=C (Each
f iw’»’ﬂ“"%}’cf( L »Qﬂ-éd.lgd.'ﬁ G & 5 5.  Define variables. How we can declare and
A orbse s

initialize a variable explain with example?

ators.(2+6)£ ..'J&.j 4 J)...Jﬁ I BY VA VIS
ALY I PV PRI NA T IFor 7

\
|
J
|
i 6.  Write a detailed note on assignment operators an
l
|
i

|
|
|
|
|
|
i

factorial of any number.
126-222-A-11000

7. Write a program using for foop to print (4+4



RoliNo. [ | T T 1 1 Ve tdned

Computer Science S.S.C (10t)-A-2022 Sted
Paper : i Group: Il Objective L&' A 13 7:/ h: 24
Time : 15 Minutes G 215 &
Marks : 10 PaperCode |7 |8 (3|4 | Sey~-&202210: 7/

e
Espeih | St h o ne S eas N5 nadYHZEIRE LD A C, B, AMEL WLy g -i2d
87 B d2 il 1oLz $ES LS N LS 4, Fsbobic L)
Note: - You have four choices for each objective type question as A, B, C and D. The choice which you think is correct; fill that circle in front of that
question number in your answer book. Use marker or pen to fill the circles. Cutting or filling up twe or more circles will result no mark.

SECTION-A (i.»

Q.1 Questions/ =1y A B c D
cvtaiun T wrd e A
1 'Guéz 1 2 3 4
" | If there are three return statements in the
function body, of them will be
executed.
.t lu wtdotts | 7 Va7 A oy
2. | The values passed to the function are | statements Arguments Indexes Variables
called <
> " i 6
-4 ‘“char Ulu’a e Uil .@‘}}A) - g
char cd() {3 o
&
3, { S\ 4
religita’: &1@ Retumn type Array Argument
} P>
in above function “ char” is - A ﬁQ
R e N M
/:/’*Jr:._*ﬂ'f “JF ol L il L L Py 49 [y 5Jr-.-/L55
4. S bu
An “jf 7 statement inside her “if 7 Nested Boxed Repeated Decomposed
statement is called structure.
AT R TR NP
5. | The index of first element of an amay is 0 1 2 3
always:
eyl i el 2L
6. for(int i=1 i<=4; i++) 3 4 5 8
What is the final value of i after executing
the above code?
7 _‘z[st,f SE o Include sk o / A4
Include Statements are written in Header Main Comments Print
?4.;@’5 7 ‘5 /f.z,Tu‘( U=l :
8. | which operator has the highest / = > .
precedence among the given?
o | ctrdFLLiSel W p)  Eu | G | L 2,
The operator “%” is used to calculate__. | Percentage | Remainder Factorial Square
& & 3
10. -4—&)’#0‘: ug”(ﬁ'i’f (be)u&J!_} J:kl u’u"’ U)J,ﬁ
Conditional logichelpsin __. Traversing Relation Decisions iterations

127-222-A-15000 **
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o 9 b Roll No. OWLR W)
“Computer Science S.S.C (10th)-A-2022 ‘ e
Time : 1:48Hours Group: lI Paper (ID 24 /2 .;:/ s
Marks : 40 Subjective O St 3.2 w0: A
Note: Section B is compuilsory. Attempt any two questions from section C. .éj.-,yz[,_-,ﬂm,ééf‘.u:‘z,a/ ¢ Bilpneid
SECTION-B (».»
2. Write short answers to any Four parts. (4x2=8) ,zé;}.:,y 25 Lzl ,94,‘3 7 2
i. Define IDE. Eu8i0E i
ii. Whatis compiler? 94_(:(}&/ i
ii. Define “Reserved words™? E 856,25 i
iv. Define statement terminator. PP 35 4
v. What are logical operators? el Y
vi. What will be the output of this code? Void main() ?6;1_(_1_5,_,_»,;1659"/; Vi

{
printf (" Pakistan \n Punjab|n");

printf (" Pakistan \t Punjab™);
}

3. Write short answers to any Four parts. (4x2=8) ,é4 Sl & L,lzblv'c,[}f 23
i, Write the structure of /f-e/se statement. @ _ég Y2151 .:,«}5/ ifelse i
ii. Whatis the use of Nested Selection Structure? O<Q> ?(rdupgyy/f;ﬁﬁy_' i
fi. What is the output of the following? intn= 30’0&% fe L{,;,?_gjf(fd,;@/, i
i (705
& AC" Pass");
O<>§jurin{f (" Fail");

iv. Write the names of any two ty ntrol statements. -c’:é; el Pings dféuj"“:’/ S v
v. How are the values given in array initialization? ?uzéw,ér u}".’—' g:(/‘. e N v
vi. Declare an array of char type of 5 students. ,Zé/’.'ﬁc..J!LngChar (S»(,U’S Vi
4.  Write short answers to any Four parts. (4x2=8) .Zég ez /"’ L,!-/.'bl'.‘,(}f 4
i, Write the output of the following code?  for (int n=1; n<3; n++) ,gog,;_t,jm;j‘j.;a,, i

printf (" Irfan\n");
i. Describe the difference between parameters and arguments. ,a’-fuw)uiu”" AT Mpe i
ii. Write names of loops used in C~language. Z rbL&)LbLﬂdlf‘" lu‘ié;@-c il
iv. What is meant by function? ‘-‘c‘—:l/_l,fc._‘}é v
v. Whatis meant by return statement? Sl /Lf‘,_*j% Jrowv
vi. Which are different types of functions? SUY dfrﬁld:z 8 }’ i
(LA 08 Ly ) froe
SECTION-C (Each question carries Eight 08 Marks)
5. Whatis meant by data type of a variable? Explain -éyu:c.wddb-&fg L‘Bj.-»‘? Sl bl 5‘5 2 5
different data types with the help of example. (2+2+2+2)
6. What are arithmetic operators? Explain any three ,éalo‘:(fjj,du@iﬂcf PRT PR ey VI8 VI
arithmetic operators. (2+2+2+2)
7. Write a program using FOR /oop to print Alphabets _:’.‘f (I/u,b’d'._/ &4J%QIJZ¢.AZ_./1L/ e i) FOR T
fromAto Z. (4+4)

127-222-A-15000




Computer Science $.S.C (Part-1I)-A-2021
Paper : Il Group : | Objective (f':f'
Time : 15 Minutes m

Marks : 10 PaperCode | 7 | 8 |3

Roll No. | |

| 1]

] (/. ZJ}JBA;’D

u‘ H -r)/r

1] SWL-Q(-2/

s’
I
< 15 ¢
10 :

24
o

A

Note: - You have four choices for ¢

et ST Lt e ne L E e Ll iy p 4 QK2 EI.REE5 D sl C,B,A ANl i
A Bz il fcar 83N &S 1 fsibmhic L

bach objective type question as A, B, C and D. The choice which you think is correct; filf that circle in front of that

question number in your answer book. Use marker or pen to fill the circles. Cutting or filling up two or more circles will result no mark.

Q1 Questions/=f» A B C D
-éd/ﬁw“’”‘ér’;’g .n;.;f!’/.y,ui Sk Lad _5:':/, u‘(/b,f;
1.
The diamond symbol repfesents the: input/output decision making processing remarks
Gl
2. 1963 AD 1976 AD 1972 AD 1970 AD
GW-BASIC was developéd in the year:
e Qe LSRG LIt s S
B The maximum length of g variable name in GW- w e @ " 45
BASIC is: /(\\@
o
AL p s i O%Qg}
4. There are contfol structure/s used in %15@ 4 5 v
GW-BASIC. Z)
S et nthe stpid$E Ll o
5. IF sl bty ot Kervons: T Enehiritone off el FOR....NEXT FOR....WHILE GOTO WHILE...WEND
which loop is suitable?
?4.():” .‘/,,;.,./aubc)fégﬂdl
6. NUM (10) A(2) B(4) AG-2)
Which of the given is not % valid subscript?
ke ///;“ 4 c'/-;U: LIST [4] L,ch).‘.{bf e i gﬁ'}‘ﬂ L}‘V
7.
In LIST [4], the value 4 indicates: Array of elements Size of array index Constant
H 2.4 Wl (:7‘7 VIR AL A5 s n ] & A 4 Je Ja/
-
8.
A large program can be d{vided into smaller parts Array Sub-program File Syntax
is called:
WL (Rl TR e PTT: Ak, Ju e !
9 | The user-defined functfon in GW-BASIC is | Procedure File Array Function GOSUB
called:
te b/ UefE pL ‘g,:-.'f,&’fuﬁvéf bof
10. SCREEN PRINT LEFT $ ABS

Which function changes

output in BASIC?

the way of displaying
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Roll No. |

o

-l—! {e.t 2,)} Jbg’i)

Computer Science S.S.C (Part-1))-A-2021 Sl
Time  : 1:45 Hours Group | Paper (M) 24 gt Erus:
Marks : 40 Subjective 01 $a L= G l=2 { 40: A

Note: Section | is compuisary. Attempt any two questions from section 1l.

(Section -1 i)

.é{ vd .-pyxé-aﬂlr»aéf‘:.uﬂr»/ -8t eind

-2

Vi

-3

Vi

4

-7

2. Write short answers P) any Four parts. (4x2=8) _ég F ez Lz lxyz_éf
i. Whatis meant by Desk Checking? < s /Lfd—u&vo.;
il. " pefine Debugging. ,éq A BBl
iii. Define WHILE...WEND Loop. 3 7§ WHILE...WEND
iv. Write the names ofiwo control structures. -é (ELJ ,.,/ ,‘«d; ;f 2
v. How does selection structure work? ?4,8/ r6’4/ /,/ }/c?(‘v
vi. Whatis Nested Logp? Se I8
3.  Write short answers to any Four parts. (4x2=8) .é{ bz L,lfhkz..éf
i. Write the purpose df PRINT statement in BASIC. <®><?) g aéu,t,»‘-'» "4 '..*;'4‘.}5.,@
ii. Write the use of LIST Command in BASIC. @O EIF o usTU G
o 5
iii. Write the use of REM statement in BASIC. % % U ¢ o REMUE L
iv. Write the name of data type which is used to sto S b, d——//JIVfoLJ‘Md/u’XL“JdJ
amount of data of same type. _ef U4
e
v. Write the syntax of 1-D array. -é u‘g’f <) 1-D
vi. Define Array. o ‘4{..4 Y] S
4.  Write short answers to any Four parts. -éé/’ ez Lz "!!"‘3'{
i. Write the names of pny two Numeric Functions. z _Zf’f] (I:L )"J /..finééf
ii. Whatis the use of RIGHT $ function in GW-BASIC? c :1: 94&?@5’&"’ RIGHT $ Utlrsdi
iii. Write the names of different types of Built-in Function. r—.—- -é’ (bcf-(i}fafg ‘5‘}6 -k
iv. Whatis the use of DATE $ function? ﬁ-——"" t4- I W‘;ré’ DATE $
v. Write the use of High-resolution graphic mode. m ,:’:ég U e B P20
- Iy
vi. Define the SCREEN statement. &y 7§ SCREEN
Section — 1l 5.9
(Each question carries 08 Marks (¢ 2T (ir 2)
5. Whatis Flow Chart? Discuss in detail six (06) oy L w(08) ZOh LI LS pl5 2P
symbols of Flow Chart.
6. Whatis meant by Var|able? Write the rules of naming -é{ AL yridci ﬁ?‘wué‘?‘;,:l e
variables in BASIC.
2, P
7. Describe LINE statenjent in BASIC Language. byl UNE SLEF G
126-221-A-16000




O[ 7 RollNo. | | | [ | | |G/%bued

Computer Science $.S.C (Part-11)-A-2021 Wed” ;,:{
Paper : i Group: Il Objective  (§1,~ ‘/”:'1’/ I: .4
Time : 15 Minutes ) | 2~ 15 &y

-, .
Marks : 10 PaperCode | 7 | 8 |3| 2 SW-' 4," a 10: A
At | St Lz e ne b e sé bl iy 14380126 LE £ Dl C,B,A ML WLy g ki
P Wiz i o Lo 8L S LS M ES 4 il Es
Note: - You have four choices forl each objective type question as A, B, C and D. The choice which you think is correct; fill that circle in front of that
question number in your pnswer book. Use marker or pen fo fill the circles. Cutting or filling up two or more circles will resuit no mark.

QA1 Questigns/= Yy A B Cc D
O by | ATl Sil e s, Sl
1‘ g
The diamond symbol! reﬂ:resents the: input/output decision making processing remarks
s 4 s = o o
_g"_lgl,ﬁxu':rl;u,‘:dbfg /n.l;)o»!-.»ufzw\.glﬂ gd’l{ 4"/616/ b L‘f,‘
2. ’
If two or more statementk are written on a line, Colon Semi Colon Comma Hyphen

they must be separated by a:

gbbrls fe (Wd‘!d/; LBl A e oF Al

3.
A variable name must start with: alphabet undev”\%: digit alphabet or
Q :

under score

~N
r oy 5 4 g O é\ P ES 4 o i 3
LS FOR-NEXT =% §% o) X F ) Ef
4.
FOR-NEXT is used to implement: @ gfion selection sequence decision
M)
; <
oy
8. NEITHER AND 4 MOD
Logical operator is:
A
,Cl—.:a;)c.,/-:/u
6. A(-2) B(4) NUM (-10) A(-3)
Valid subscript is:
A . f/U’ ;L'f/ L i .[J c-b‘«:.f - & it L.’-‘g( A c_rl;Lu/ J
7.
An element of an array is lmentioned by its: subscript array object name of element

b Ut SR

Library functions are divided into categories.

P AP

9. . ; RND INT ABS LOG
Which function returns thg absolute value of

expression?

ey J)ﬁf‘.ﬁf ul.ﬁ_e

10. 2
The number of graphic mgdes in BASIC are: " !

B BN 127-221-A-15000*
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Time  : 1:45 Hours Group: Il Paper (ID 24 !/»3-;)/ s 1
Marks : 40 Subjective élﬂ'i ‘wb &L”'l 40 : /

Note: Section | is compulsory

vi.

vi.

vi.

_é{,/’.:«yiéamruéafc"ﬂ(»/,4-451’1’051./:..’.«;

Attempt any two questions from section il.

(Section -1 Jil#)

Write short answers to %ny Four parts. (4x2=8) ‘é4/’ :«Llﬁ/ Lz "k"df -2
Define Algorithm. -éqﬁdrzlﬁl J
How would you test a Program? ?Lu.f.z/.’c:ffﬂfu,.{lvl' i

Write down the syntak of “IF... THEN” statement.
How does “IF... THEN...ELSE" statement work in GW-BASIC?
Give the syntax of WHILE...WEND loop.

Write down the names of three logical operators.
Write short answers IL) any Four parts.

Write down the purpgse and syntax of Auto Command.
Who did develop GW-BASIC and when?

What are the reserverd words?

5 e THEN i
0o 8/ ke LA IF . THEN.. ELSE"Uskaatdd iv
-_é—tz‘fgwjb'.;)WHlLE...WEND v

-é{/rl:éj/f./,ﬂﬁ:‘d Vi

Write down the synta

Describe the 1-D Array.

Differentiate between

Write short answers fo any Four parts.

What is meant by Sup

Write down the use of

What is meant by Da

Describe the use of CHR $ () function in BASIC.

What is meant by Gr

Write down the use gf

(4x2=8) K pin Lizigeds .3
OV B L s
O@%ﬁ} ’*3 et sl FTGW-BASIC il
@%5@ T 3 : AL B 25 i
to declare an Array. @ ; i -é;/’ﬂb’ér/;-filg,ﬂ iv

-éugh,n 1-D v

AT

o S _"%L‘o‘/uﬂwld{; #{}y/dl ol i

simple subscripted variable.

(4x2u8) f " w‘%{ Pz A Laze 37 4

Program? ;L X 3 Tl /_L_fc_(lf Yy

INT function in GW-BASIC. LUFeP INT SGBig i
a File in File Handling? et p i e Sl B S i
PRSP CHR SO G v

phics? ?é:l/gfc,flf v
PSET statement. LIF e pser i

Section — I #».#
(Each question carries 08 Marks (£~ 2TLJIr )

5. Define Flowchart. Writéf the advantages and limitations of Flowchart. ,ﬁg 7 uLxuumié.wgﬁ ;é..gf A 6.5;!;)“ -5
6. Write a note on READ/DATA Statement. i, o READIDATA _6
of CIRCLE Statement. Lo Pl orete LR G 7

7. Write a note on the usg

127-221-A-15000



